KONSTRUKCJE WOLNOSTOJACE

Free-standing structures

=

N

< L

: CARPORT Typ Massive ALU

s

&l

=

(&)

X

=2

: = -

'5 Aluminium cafport construction

z

:

z

<
o 1SO 9001 NOVATICO SPOLKA Z 0.0. Tel. +48 533-012-354 _..',':'.:'..
Wy UV ENISO1090-1 42-271 Czestochowa, ul.Wilgowa 67  biuro@novatico.eu i
500 . b I = =
= ENIS0S03-2 NIP PL5732908517 www.novatico.eu NOVATICO 2p. 2 0.0.




1 ROZ+LOZENIE FUNDAMEANTOW Z BETONU

Support foundations layout

=)

p-

[

=

o

=

<

=

(&)

X

=

o

=

2

¥ max 2435 mm — o max 5880 mm
|

% = iy : =

<

<<

=

=z

)

% 1000

=

w

Z

1000 | | ) 0

Wykonaj fundamenty pod duza i matfg stope z betonu zbrojonego. Make reinforced concrete foundations for the small and large support post

£ iy base brackets. The large foundation block will be positioned under the
Fundament duzy ZnaJdZIe sig pod podpora V' a ma+y DOd podpora I V-shaped support, and the smaller under the I-shaped post.

Odlegtos¢ miedzy osiami tych fundamentdw ma wynosi¢ 2435mm, natomiast Distance between of the small and large foundation blocks center axes

szerokos$é miedzy osiami funadmentéw max. 5880mm (w zaleznosci od wielkosci should be 5860 mm max. (depending on the size of Used PV modules
i Ry 5 S e w contributing to the overall width of the carport).

zastosowanych modutow fotowoltaicznych czyli catkowitej szerokosci carportu)

1SO 9001 NOVATICO SPOLKA Z 0.0. Tel. +48 533-012-354 R 3
EN 1SO 1090-1 42-271 Czestochowa, ul.Wilgowa 67  biuro@novatico.eu il
R I AR NIP PL5732908517 www.novatico.eu

NOVATICO sp. z0.0.



INSTRUKCJA MONTAZU

INSTALLATION MANUAL

2. MONTAZ STOP PODPOROWYCH

Support posts base brackets installation

8x Kotwa 16x250-300
+ zywica dwusktadnikowa

8x 16x250-300 anchor bolt

Do fundamentow przykrec stopy uzywajgc kotew @16x250-300 i zywicy dwusktadnikowe;].
8szt. na duzg stope oraz 4szt. na mata.

SO 9001 NOVATICO SPOLKA Z 0.0.
EN ISO 1090-1 42-271 Czestochowa, ul.Wilgowa 67
SRS NIP PL5732908517

4x Kotwa stalowa 16x250-300
4x 16x250-300 anchor bolt

Secure the base brackets to the foundation blocks using
@16x250-300 anchor bolts and 2 part epoxy. 8 for the large

bracket and 4 for the smaller one.

Tel. +48 533-012-354
biuro@novatico.eu
www.novatico.eu

NOVATICO sp. z 0.0.



3. MONTAZ PODPOR

=

‘N

E Support posts installation
=

o

= \ Sruba M20x160 + podktadka
< (1] M20x160 bolt + washer
(&)

X

=

-4

=

[}

-

3 \

2 '

<

<

=

=z

o

=

<

-

-~

=

%)

Z

Nakretka M10

M10 nut and washer

Przykreé profile 1,2 i 3 do stép tworzac podpory B A Fasten support posts 1, 2 and 3 to the base brackets

5o 5 § creating the "V" and "I" supports. Use M20x160 bolts,
Uzyj do tego srub M20x160 i nakretek oraz podkfadek. irsand washers.

IS0 9001 NOVATICO SPOLKA Z 0.0. Tel. +48 533-012-354 esa e,
EN IS0 1090-1 42-271 Czestochowa, ul.Wilgowa 67 biuro@novatico.eu

R E0a:a NIP PL5732908517 www.novatico.eu NOVATICO 3p. 2 0.0.




4. MONTAZ BELKI WZDtUZNEJ

=]
‘N
E Main beam installation Nakretka M10
g M10 nut
=
=
=
Q
X
2
o
=
(]
=
I
gee)
=
<T
=
&
Q
=
<
—~
-~
=
w
<

Sruba M20x140 + podktadka
M20x140 bolt + washer

Przykreé be||.(e WZCHUZI’]Q do podp(')r UZywajaC Srub M20x‘]40, Fasten the main beam to the supports using M20x140 bolts, huts and washers.
nakretek i podktadek.

1S0 9001 NOVATICO SPOLKA Z 0.0. Tel. +48 533-012-354 iete’s,
EN IS0 1090-1 42-271 Czestochowa, ul.Wilgowa 67 biuro@novatico.eu NOVATICO —
ENISO3834-2  NIp PL5732908517 www.novatico.eu e

L




5. MONTAZ BELEK POPRZECZNYCH

=
': Cross beam installation

'g 4x Nakretka M10

4x M10 nut

= :
<

-

0

7

=)

o

=

[7;]

4

=

=

P

=T

=

P

S

~

<L

~—d

-l

=

w0

z

. 4x Sruba
2x Blaszka dociskowa szesciokatna M10
-
2x Clamping plate 4x M10 bolt
Przykre¢ belki poprzeczne wykorzystujgc 2 blaszki dociskowe i po 2 sruby M10x25 Fasten the cross beams to the main beams using clamping 2 plates

2 nakretkami kofnierzowymi na jedna blaszke and 2 M10x25 bolts with nuts and washers per plate.
' Until modules ate installed do not tighten the plates fully before fitting the

Przed montazem paneli nie dokrecaj blaszek do korica przed dopasowaniem belek cross beams to the module's dimensions. Secure the plates after
poprzecznych do szerokosci paneli. Dokred je dopiero po dopasowaniu paneli. Thesmepales aneiiiiag,

ISO 9001 NOVATICO SPOLKA Z 0.0. Tel. +48 533-012-354 ...'.".';:'-.
EN ISO 1090-1 42-271 Czestochowa, ul.Wilgowa 67  biuro@novatico.eu iy
ENISO 3834-2 NIP PL5732908517 www.novatico.eu

NOVATICO sp. z 0.0.



INSTRUKCJA MONTAZU

INSTALLATION MANUAL

6. MONTAZ KLEM ALUMINIOWYCH

Module clamps installation

Sruba Klema
imbusowa M8 Clamp
M8 allen bolt &5

Wopust z kulkg

Sliding slot insert with a ball

W gornym kanale profilu umiesc wpust przesuwny. Wpust przesuwny konstrukcyjnie
przystosowany jest do wtozenia od géry w dowolnym miejscu kanatu. Po rozmieszczeniu
wpustow lekko przymocuj klemy za pomocg $rub imbusowych, klemy powinny luZzno wisiec,
zostang one przykrecone w czasie rozktadania kolejnych modutéw.

Pierwszg i ostanig w rzedzie bedzie klema koncowa, stabilizujgca krawedz pierwszego

i ostatniego modutu. Pozostate wpusty przesuwne potgcz z klemami srodkowymi,

ktdre stabilizujg boki dwdch sgsiednich modutdw. Prawidtowo dobrana klema koricowa ma
wysokos¢ réwng grubosci modutu, klemy srodkowe pasujg do dowolnej grubosci modutu;
prawidtowo dobrana $ruba imbusowa bedzie o0 1 cm krétsza ad grubosci modutu, bez

IS0 9001 NOVATICO SPOLKA Z 0.0.

TOVE  ENISO1090-1 42-271 Czestochowa, ul.Wilgowa 67

EM IS0 3834-2 NIP PL5732908517

Insert the sliding slot insert in the top track of the cross beam profile. The
sliding insert is designed to be installed from above anywhere along the
track. After arranging the inserts lightly fasten clamps to the slot inserts
using hex head bolts. Clamps should float freely and be tightened when
subsequent modules are installed

End clamps should be used at the start and end of module rows to
stabilize the module's outer edge. Remaining slot inserts connect to the
middle clamps which stabilize the sides of two neighboring modules. The
correctly chosen end clamp's height will be of the same as the module’s
thickness, the middle clamps fit modules of any thickness, the correct
allen head bolt will be 1Tcm shorter than the module's thickness when
inserted into either the middle or end clamp.

Tel. +48 533-012-354 .--’.'."".".
Biupel@novaliE.ou NOVATICO sp. z 0.0.

www.novatico.eu



INSTRUKCJA MONTAZU

INSTALLATION MANUAL

7. MONTAZ PANELI FOTOWOLTAICZNYCH

Installing the photovoltaic panels

Carport przystosowany jest do montazu 15 modutéw w uktadzie 5x3. Belka wzdtuzna
pozwala nha zamontowanie 5 modutéw o szerokosci do 1134mm, natomiast belka
poprzeczna na 3 moduty o dtugosci do 2120mm.

Na tak przygotowanej konstrukcji rozmies¢ moduty dokrecajgc klemy kolejno po utozeniu
kazdego nastepnego modutu. Klemy powinny znalez¢ sie na odpowiedniej szerokosci
modutu, zgodnie z zaleceniami instrukcji montazu modutéw fotowoltaicznych.

IS0 9001
EN ISO 1090-1
EN ISO 3834-2

NOVATICO SPOLKA Z 0.0.
42-271 Czestochowa, ul.Wilgowa 67
NIP PL5732908517

max 2120mm

max 1134mm

The carport is designed for installation of 15 modules in 5x3 arrangement.
The main beam supports installing 5 modules of with up to 1134mm, while
the cross beam allows 3 modules of length up to 2120mm.

On a structure prepared like this, install modules one by one securing
every subsequent one with clamps. Clamps should be at the right module
width, according to the PV module's installation manual.

Tel. +48 533-012-354 .,.'.':- %

biuro@novatico.eu
www.novatico.eu NOVATICO sp. z 0.0.



